Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C3322401
Subject Name: Basic Electronic Circuit
Time: 10:30 am to 12:00 pm

Instructions:

1. Attempt all questions.
2. Make suitable assumption wherever necessary.

3. Each question is of 1 mark.

Date:08-06-2015

Total Marks: 70

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

5. English version is authentic.

No. Question Text and Option. U# uA [Ascdl.
A semiconductor is formed by........ Bonds.

1. A. covalent

C. co-ordinate D.
Alssser .......... ol Yl ool B

. A 5ldQAee B.
c. sl-uslae D.
A semiconductor has generally ........ valence electrons.

2. A 2 B.
C. 4 D.
AHssseR o .......... Add FAsglet sl B.

2. A 2
C. 4 D.
The most commonly used semiconductor is........

3. A germanium B.
C. carbon D.
AHeAIA...... A Es 522 dAuRNA

3. A xile{lan B.
C. stolat D.

electrovalent

none of the above

gAsglddee
wHLll As weL o8l

Silicon

Sulphur

AcAlslet
UCHR

4. When a pentavalent impurity is added to a pure semiconductor, it becomes ..



<

A. an insulator

C. p-type semiconductor

B.
D.

an intrinsic semiconductor

n-type semiconductor

YR Yelddee 1yl AuuAH15ss2 HL GRRaUML AUA AR A.....ola

A, SRyaAR

C. p-2lefu Asss22

A trivalent impurity has........

A 4
C. 5
A WYLHL .......
A 4
C. 5

The leakage current across a pn junction is due to

A. minority carriers

C. junction capacitance

pn %59l HIl UAR Al cliy 522

A, HSAZLE 3R
C. %53l 3U{lexn
A zener diode has........
A. one pn junction
C. Three pn junction
BetR stAls al......elA B
A. WS pn ¥52el

C. 2Bl pn %%t

A zener diode is used as........

A. an amplifier

C. a rectifier

Bt SRAS......dA3% quR ®

A, AnlslR

C. Rl

The ripple factor of a half-wave rectifier is
A. 2

C. 2.5

alsAd LSRR oll AU ¥se?

A. 2
C. 2.5

Valence electrons.

B.
D.

D.
Aded Aot sl ©

B.
D.

B.

D

A w3l B.
B.
D.

Sog 2y AH$s5522
n- elefu AH§sse?

majority carriers

none of the above

N2l 33laR
-l Asual o8l

Two pn junction

four pn junction

ol pn %52l
AR pn %52l

a voltage regulator

a multivibrator

Al A2
yElagaole

1.21
0.48

1.21
0.48
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10.

10.

11.

Q.

12.

.

13.

3.

14.

.

15.

Q.

The maximum efficiency of a half-wave rectifier is

A. 40.6%
C 50%

slsAd 3l ofl HodH Agllasll

A. 40.6%
C. 50%

The reverse current in a diode is of the order of

A. KA
C. pA
SIS HUAUR AA By 8202 ...
A. KA
C. pA

D

ala ®.

Rl sl 8.
B.
D.

A

The forward voltage drop across a silicon diode is about........

A. 2.5V
C. 10V

Alcllslot stalls 1L S8 AR%.....812 B.

A. 2.5V

C. 10V

A zener diode is always .......... connected.
A. reverse

C. either reverse or forward

Dot SIALS oA SRL......HL SaAse SAA O

A Rlad
Cc.  Rlasl waual §1ds
The varactor is usually

A. forward-biased

C. unbiased
ARSeR AHLRL JlA. ... .8 A B,
A, SdS.oa

C. VLol A™
A photo-diode is normally
A. forward-biased

C. unbiased

g2l SIS U HLeA 3lA. ... .8l A B.

A, SdS.oa

B.
D.

3V
0.7V

3V
0.7V

forward

none of the above

sds
As Ul dla «8l.

reverse-biased

in the breakdown region

ol clad
A5SIGet Ioflauet 1L

reverse-biased

in the breakdown region

Jlagl e
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16.

1S.

17.

9.

18.

.

19.

c.

20.

R0.

21.

1.

C. WololAA
Varactor diode is sometimes called.....
A. Voltage controlled capacitor

C. Current controlled capacitor

A¥se? stallsa YRl durd.....sdalal ®.

A, Al s2les 3UleR

C. 822 salects 3uleR

A tunnel diode is always operated in.....
A. Exponential region

C. Positive resistance region

2ol SLAS eN2UL.....HL 512l 52 B.

A Asadlalllact Aoflaet

c. Wofldla 0fléu oflatet

D.

In a photo diode, reverse current increases when...

A. Light is constant.

C. Junction is exposed to light.

SlRlSRASHL a9l s2e2 dll B, »AR......

A, USLal WA Sl
C.  252lel UR YUsll WScllHL ua.

B.
D.

B.
D.

Which among the following is not true about LED?

A. Low operating voltage

C. Longer life (more than 20 years)
o(lQAotl HIell 53 LED HI2 Y otell.
A AL AR AR

C. dUR Ags(20ad sclaulR)

Which among the following is not application of LED?

B.

A. Seven-segment display.

C. Light decoration

o(lAatl 1Ll 585 ol Guollcl otell.
A, Adet-AdAee SlA

C. e 3slRat Ml

Light-emitting diodes are made from.....
A. Silicon

C. Germanium

cagse SHIZL slls....oll Wacl 82l B

B.
D.

B.
D.

D.

A5SIGet Ioflauet 1L

Voltage controlled inductor

Current controlled inductor.

Al S2lCAS 5522
§22 $2lCAS 65522

Linear region

negative resistance region

Ale{lar Aoflatat
A8l 208l Aoflatet

Temperature is increases

Reverse resistance decreases

dAlUHLet cttd 8l
Jagl Wieu u

Fast on-off switching

High power rating.

IS UL ot -20 5. 2c[12Alat
AR uldR 22t

As a power indicator.

As Amplifier.

R Soesl¥e? a3y
Al d3l.

Carbon

Gallium phosphide
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22.

2.

23.

3.

24.

R¥.

25.

U

26.

RS.

27.

A, Alslet B.  slolet

c. ollan D. AdlausisSs

In the breakdown region, a zener diode behaves like a ......... source

A. constant voltage B. constant current

C. constant resistance D. none of the above
As SIGat Ioflast 1L BotR SLAS ... A 3y ad B.

A SR dRw B. Slodée s

C. Slodese Wiee D.  wel As vl o8l

The element that has the biggest size in a transistor is.......

A. collector B. base

C. emitter D. collector-base junction
gioflre? L HletH HEl A x......o{l.aa B,

A.  sAsRR B. G

c. e D. 5QA2R A s2let

The input impedance of a transistor is......

A.  high B. Low

C. very high D. almost zero
2loflReR ol Soye rdlsal....au ®.

A, dUR B. el

C. “e CUTE. D. CLILAHIL o
In a transistor........

A. e =1 + 1 B. lg= 1o + Ig
C. lg=lg-1g D. le= g+ Iy
gloflre L.

A. e =1 + 1 B. lg= 1o + Ig
C. lg=lg-1g D. le= g+ Iy

The value of a of a transistor is........

A. more than 1 B. less than 1

C. 1 D. none of the above
2loofle? Hl o ofl Slud...8lL B.

A. WS scll dUR B. AUS $cll A5 5l AL
C. 1 D. As uel o8l

le = o lg +...aeee.

A g B.  leeo
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V.

28.

RC.

29.

RC.

30.

30.

31.

31.

32.

3R.

C.  leso D. Bl

le = alg +...eeee.

A g B. leeo

C. lupo D. Pl

In a transistor, I = 100 mA and I =100.5 mA. The value of B is........
A. 100 B. 50

C. 1 D. 200

2loflre? MU 1, = 100 mA Wl I =100.5 mA B. dl B ol SlHct...®
A. 100 B. 50

C. 1 D. 200

The relation between B and a is........

A Bz p=—*

C. P=r— D. P-= ﬁ

B o dA oll Aolk....D.

A Bz B. p=—=

cC. P =ﬁ D. B= ﬁ

The most commonly used transistor arrangement is........ Arrangement.
A. common emitter B. common base
C. common collector D. none of the above
AHLAIlA........21fle 2. o{lolls cul. auR i B.

A St Alex. B. SlHol A

C.  SlMot 5A5eR D. Asuel o8l

The phase difference between the input and output voltages in a common base

arrangement is.........

A. 1809 B. 909

C. 2709 D. 09

Sliot G123 Olsclll ML Solye ua lBaYye dJ.oll ¥ oll dsldd....slA B,
A. 180° B. 909

C. 2709 D. 09

The power gain of a transistor connected in....... arrangement is the highest.
A. common emitter B. common base

C. common collector D. none of the above
Al dtll? UledR Aeot.....olsclal HL Sl B

A St Alex. B. SlHol A%

C.  SlHol 5A5eR D.  Asuel o8l
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33.

33.

34.

3%.

35.

34,

36.

36.

37.

39.

38.

The voltage gain of a transistor connected in........ arrangement is the highest.

A. common base B. common collector
C. common emitter D. none of the above
Well atll? ey ANeSot..... o6l HL SlA B

A, SlHat Alex. B.  SlHol A0

C.  SlMot 5A52R D.  Asuel o8l

If the value of a is 0.9, then value of f is........

A. 9 B. 0.9

C. 900 D. 90

a o511 0.9 8, poll slud....52.

A. 9 B. 0.9

C. 900 D. 90

In a transistor, signal is transferred from a........ Circuit.

A. high resistance to low resistance B. low resistance to high resistance

C. high resistance to high resistance D. low resistance to low resistance

gioflre? L flostc.......... dR% 2lrg2 Al ®.

A duR 00 Hiell AL AU dRg B, Al AU 1l aurR
AU RS

C. duR WA Hiell auR oMU drg D, e AU el et
AU RS

The leakage current in CE arrangement is ...... that in CB arrangement

A. more than B. less than

C. the same as D. none of the above

CE 206l HL CB dlsclll 5l ¥y s22....8u B.

A, dulR B. el

C. Al D. el As uwl o8l

The collector-base junction in a transistor has........

A. forward bias at all times B. reverse bias at all times
C. low resistance D. none of the above
2loflReR of 5As2R-0103 ¥52Uat... .8l O,

A, odlana s1ds ol B. ol auwad asgl cuat.
C. A e D. el As uwl o8l

In a transistor if B = 100 and collector current is 10 mA, then I; is........
A. 100 mA B. 100.1 mA

C. 110 mA D. none of the above
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3¢.

39.

3¢.

40.

¥0.

41.

¥9.

42.

¥R.

43,

¥3.

o 2icdfleR oll B = 100U 5ASER 522 10 mA l I.......

A. 100 mA B. 100.1 mA
C. 110 mA D. el As uwl o8l
For faithful amplification by a transistor circuit, the value of Vg should .......... for a

silicon transistor.

A. be zero B. be 0.01V

C. not fall below 0.7 V D. be between O V and 0.1 V
eRlUUL Aclgldatet 1R vy, ofl Slud Alcllslot 2ioflee: H2....8lcll e,
A. O B. 0.01V

Cc. 0.7Vl Al «dl D. OV 0.1Vl a
An ideal value of stability factor is........

A. 100 B. 200

C. more than 200 D. 1

Ro{ldldl ¥s5e2 Heoll vuesl slud....D.

A. 100 B. 200

C. 200 Sl dulR D. 1

If the maximum collector current due to signal alone is 3 mA, then zero signal collector

current should be at least equal to.........

A. 6 mA B. 1.5 mA

C. 3 mA D. 1 mA

AsAl Yootd A A HedAH 5A522 522 3 mA © Al AL 1L ABL A Roetct
$AS2 §2......... slall.leSA.

A. 6 mA B. 1.5 mA

C. 3 mA D. 1 mA

The operating point is also called the........

A. cut off point B. quiescent point

C. saturation point D. none of the above
BUREL WSoe a... Ul sdald B.

A 52 ulls WEe B. sadgUe W2

C. AYYAdt WFoe D. el As gl «18l.

For proper amplification by a transistor circuit, the operating point should be located
at........ Of the d.c. load line.

A. the end point B. middle

C. the maximum current point D. none of the above

2looflzer usle ad oll ARul ANElg13atet 12 UL W2 SLALALS et
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44,

Y.

45.

¥Y.

46.

¥S.

47.

¥9.

438.

¥C.

Hlroreeeeeeene, UR 8lg e,
A, BOSLUR B. d
C. H&dH 822 W2 uR D.  wel As vl o8l

The disadvantage of voltage divider bias is that it has........

A. high stability factor B. low base current

C. many resistors D. none of the above
dleos Slalefs? A oll ARSLAEL...... 0.

A, duR Rolldldl se? B. Al AR 522

C. ubusul ke D. el As vl o8l

Thermal runaway occurs when........

A. collector is reverse biased B. transistor is not biased

C. emitter is forward biased D. junction capacitance is high
Al Ret-UA U D wUR.........

A, sAse? ol ol HL QA &R B. 2loflkeR cllad |l of Sl &UR.
c. UHle: SdS cad HL A AR D.  ofs2lot 3UYLEA cR sl AR

The purpose of resistance in the emitter circuit of a transistor amplifier is to...........
A. limit the maximum emitter current B. provide base-emitter bias
C. limit the change in emitter current D. none of the above
2loflreR AncllsiaR ofl Wle? usle Histt VAReR ol &d..... ..

A HedH AHeR sea clille | wal. B, Ax-Ad{lel claA™ Y3 wsdl.
c. AHleR sR2 ol 38R A cllalle W Amal.  p. el As wel A8l

In a transistor amplifier circuit, Ve = Vg +ouereeeeee.
A. Ve B. 2 Vg
C. 1.5 Vg D. none of the above

gloflee? Aneflgtar usle LV = Vg #evveene.

A. Vg B. 2 Vg

C. 1.5 Vg D. el As uel o8l

In a base resistor method, if the value of B changes by 50, then collector current will
change by a factor of........

A. 25 B. 50

C. 100 D. 200

AB-A2R A 1L %L B HL 50 oll 3SR Al Al 5AS2R 522 Hl......552 oll 3SR
a3l

A. 25 B. 50

C. 100 D. 200
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49.

¥C.

50.

vo.

51.

ua.

52.

uR.

53.

u3.

The stability factor of a collector feedback bias circuit is........ that of base resistor bias.

A. the same as B. more than

C. less than D. none of the above

sAs22 $lsals ollad Usle ol Rolldldl %522 Ax-0MReR cllad s:dl........8lAD.
A AU B. duR

C. Wl D. el As uwl o8l

The stabilisation of operating point in potential divider method is provided by ........

A. Re consideration B. R consideration

C. V. consideration D. none of the above

wWelact Slauefs? A H UL W2 of RollaeRalet........ g1 Y3 UsclHL
ula B,

A. R sls?alet, B. Rsls2alet.

C. Vg sdlsRalet. D. el As uel o8l
When the temperature changes, the operating point is shifted due to........

A. change in lgg, B. change in V¢

C. change in the values of circuit D. none of the above

resistances

YR AlUMlel HL 3812 Al B Al UL Wde. ... Al WA B
A, oo HL 3812 B. V. Hl 38R

C. USle oll oMUl HL ¥R81R D. el As uwl o8l
The value of stability factor for a base-resistor bias is ........

A. Ry (B+1) B. (B+1)Re

C. (B +1) D. 1-P

AB-A2R A L Rl 352 ofl Slud.....D.

A. Ry (B+1) B. (B+1)Re

C. (B+1) D. 1-8

A silicon transistor is biased with base resistor method. If B = 100, Vg = 0.7 V, zero
signal collector current I, = 1 mA and V. = 6 V, what is the value of base resistor
Rg ?

A. 105 kQ B. 530 kQ

C. 315 kQ D. none of the above

A cAlslet.2ioflre . Alos-ofre .ol Al . el cllatd. SR U ML AR D%\ B = 100, Vg = 0.7
V, ARL-{lortcd.5A522.522 1, = 1 mA WA Ve = 6 V B cll A% 2R ofl Slud
el

A. 105 kQ B. 530 kQ
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54.

uy.

55.

e

56.

us.

57.

9.

58.

uc.

C.
In voltage divider bias, V. = 25 V; R, =10kQ; R, = 2.2kQ ;R. = 3.6kQ and R; =1 kQ.

315 kQ

What is the emitter voltage?

A.
C.

6.7 V
49V

D.

B.
D.

Ll As vl o8l

53V
3.8V

dleos Slallefs sllaAM ML Ve = 25 V; R, =10kQ; R, = 2.2kQ ;R = 3.6kQ AR, =1
kQ 8. Al AHl2R AR 9 &A?

A.
C.

In voltage divider bias, operating point is 3 V, 2 mA.

6.7 V
49V

what is the value of R; ?

A.
C.
dleos Slallefs? ol HL AMUREPL WS 3V, 2 mA . B Ve = 9V, R, = 2.2 kQ,

2000 Q
800 Q

dl ol R SlHd g 897

A.
C.

2000 Q
800 Q

B.
D.

B.
D.

B.

D.

53V
3.8V
If VCC = 9V, RC = 2.2 kQ,

1400 Q

1600 Q

1400 Q
1600 Q

The circuit that provides the best stabilisation of operating point is..........

A.
C.

base resistor bias

potential divider bias

B.

D.

collector feedback bias

none of the above

o(lAetl el 585 sl UWURE WEo2 of ARL HL UR RS Dot UUD

A.
C.

Ax-ofke? clla
Yeo{lad Slalefs? ollax

B.

D.

sAS2R-5lSAS ollA™
vl As vl o8l

The disadvantage of base resistor method of transistor biasing is that it........

A.
C.

is complicated

provides high stability

B.

D.

is sensitive to changes in f

none of the above

gioflre? orallol {2 ol Ay 20 It ol ARKLUEL....D.

A.
C.
The base resistor method is generally used in
A.
C. .
Ao A A 08reR ol 3. 1t Guoll B.
A.
C.

WYL,

auR Rollcdlél yIl ud 3.

amplifier circuits

rectifier circuits

Ancflslar usle
YsdlstaR usle

D

B.

D.

B HL 3232 &l A(léla B.
vl As vl o8l

switching circuits

none of the above

(lflo usle
vl As vl o8l
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59.

ue.

60.

SO.

61.

SA.

62.

SR.

63.

G3.

64.

In an unregulated power supply, if load current increases, the output voltage...........

A. remains the same B. decreases

C. increases D. none of the above
WARRJALS ULlCR UL %LAS $22 dll dl UEBY2.ARY......

A, ARW % R, B. e

c. di. D. el As uwl o8l
A zener diode is used as a ............ voltage regulating device.

A. shunt B. series

C. series-shunt D. none of the above
Pl SLRAS...... AR YA Slagu d3ly Gudo(l 8.

A Qe B. IA»

c. Ad»- e D. el As vl o8l
A zener voltage regulator is used for ............ load currents.

A. high B. very high

C. moderate D. small

Rolk Al RARR.......... Als 52 M2 GuAl(l B.

A, dUR B. «ol.dulR
C. Hlse D. el

A certain regulator has a no-load voltage of 6 V and a full-load output of 5.82 V. What

is the load regulation?

A. 3.09 % B. 2.87 %
C. 5.72 % D. none of the above

SlEf 2YA2R ol oAl-AlsARY 6 V AAFAH AlsuB2Ye cllee 5.82 V B.cl Als
20Aet 32 B

A. 3.09 % B. 2.87 %
C. 5.72 % D. none of the above

In a loaded zener regulator, which is the largest zener current ?

A. series current B. zener current

C. load current D. none of the above
ARS Botr 204AR M2 Al duR sU s22 .

A {Rlw.se B. 3el? $22

C. s s D.  wel As vl o8l

If the load resistance decreases in a zener regulator, then zener current.............
A. decreases B. stays the same

C. increases D. none of the above
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Pol? 20YA2R HIE Als RREA U2 Al BelR 82.....

A, U B. AU W

c. di. D. el As uwl o8l

A power supply has a voltage regulation of 1 %. If the no-load voltage is 20 V, what is
full-load voltage?

A. 208V B. 157V

C. 186V D. 17.2V

UlelR AL o cleey YAt 1% B.%1 oll Als cleey 20allee slal,dl §e Als
Al sedl 83

A. 208V B. 157V

C. 186V D. 17.2V

Two similar 15 V zener diodes are connected in series. What is the regulated output

voltage?

A. 15V B. 75V

C. 30V D. 45V

A ARV Dol SLAS ol AU HL A3l B Al R0YARS MBaye 32 &2
A. 15V B. 75V

C. 30V D. 45V

Among the following is not a basic type of IC voltage regulator
A. Fixed positive voltage regulators B. Fixed current voltage regulator.
C. Fixed negative voltage regulators D. Adjustable voltage regulators

UHE 50 Yol IC AR AR ol YsiR ol

68.

SC.

69.

Sc.

A glses Wlldla dlRes 0yA2R B. 5l 522 dleey R0yAeR
C. $lss addla Al 20yAe? D. ARG AR% WYA2R
Which IC regulator provides a fixed positive +12 output voltage?

A. 7805 B. 7910

C. 7812 D. 7912

o(lAatl ULl 57 IC 20YARR $lsUS WIB2Y2 +12 AR AWUUD.

A.
C.

7805
7812

B.
D.

7910
7912

Which IC regulator provides a fixed negative -5 output voltage?

A.
C.

7805
7850

B.
D.

7812
7905

o(lAatl HLel g IC 0YARR $lsAUS WB2Ye -5 Al UUB.

A.

7805

B.

7812
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C. 7850 D. 7905

Which IC regulator is an Adjustable Voltage Regulator?

70. A.  LM317 B. RC 4195
C. LM7412 D. RC4199
o(lAall el 57 IC R0YARR WSRIUA AR% WYA2R O,

0. A.  LM317 B. RC 4195
C. LM7412 D. RC4199

% 3k 3k %k k %k %k %k k %k *k %k *k k
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